m Zubehor-Montageanleitung .
Verbindungsrahmen fur Verschluss- MAI co
klappen AS 50, AS 60, RS 50 und RS 60

|__VENTILATOREN|
" Mounting instructions — Accessories
Connection frame for shutters
AS 50, AS 60, RS 50 and RS 60
m Instructions de montage
Cadre de raccordement pour volets de
fermeture AS 50, AS 60, RS 50 et RS 60
ZVR 50
ZVR 56
ZVR 60

www.maico-ventilatoren.com




DE | Montageanleitung

EZQ, EZS
DzQ, DZS

AS 50, AS 60
RS 50, RS 60

ZVR 50, ZVR 56, ZVR 60

Lesen Sie diese Anleitung vor der
A Montage bitte sorgfaltig durch. Fir
einzuhaltende Sicherheitsvorschrif-
@ ten und weiterflihrende Informationen
siehe Montage- und Betriebsanlei-
tung der Verschlussklappe. Folgen
Sie den Anweisungen.

1. Lieferumfang

Verbindungsrahmen, 8 Winkel, 4 Schrauben
M4x25 und Muttern, 16 Schrauben M4x8
(gewindeformend), diese Montage- und
Betriebsanleitung.

Zusatzlicher Lieferumfang in Kombination
mit RS 50/RS 60: 7 Schrauben M4x8
(gewindeformend), 1 Winkel, 1 Fihrungs-
blech und 1 Fuhrungsrohr.

2. Qualifikation Fachinstallateur

Die Montage ist nur durch Fachkréfte zulassig.
Arbeiten an der Elektrik durfen nur von einer
Elektrofachkraft vorgenommen werden. Sie
sind eine Elektrofachkraft, wenn Sie aufgrund
Ihrer fachlichen Ausbildung, Schulung und
Erfahrung die einschlagigen Normen und
Richtlinien kennen, die elektrischen Anschliisse
gemaR beigefiigtem Verdrahtungsplan
fachgerecht und sicher ausfiihren kdnnen
und Risiken und Gefahrdungen durch
Elektrizitdt erkennen und vermeiden kénnen.

3. Bestimmungsgemale
Verwendung

Empfohlenes Zubehor fur die Montage von
Verschlussklappen AS 50, AS 60, RS 50 und
RS 60. Verbindungsrahmen zur Befestigung
der Verschlussklappe am Ventilator statt
an der Wand. Fir den Einbau in dliinne
AuRBenwéande. Fir Ventilatoren der Typen-
reihe EZQ, EZS, DZQ und DZS mit zum
Innendurchmesser passender Nennweite.
RS 60 mit ZVR 56 oder ZVR 60 montierbar.




Montageanleitung | DE

Zulassig ist der Einsatz nur bei einer:
e Festinstallation an Ventilatoren

e in AuBenwanden mit ausreichender Tragkraft.

e Montage mit beigefligtem Befestigungs-
material.
e passender Einbaulage - Markierung Oben.

6. Montage

4. Sicherheitshinweise und
Warnungen

Verletzungsgefahr in Eingangsberei-

chen bei Eisbildung durch herab-
fallende Eiszapfen. Verbindungsrahmen/
Verschlussklappe auf keinen Fall oberhalb
von unuberdachten Eingangsbereichen
installieren.

Verletzungsgefahr bei Arbeiten in

der Hohe. Benutzen Sie geeignete

Aufstiegshilfen (Leitern). Die
Standsicherheit ist zu gewahrleisten, die
Leiter ggf. durch eine 2. Person zu sichern.
Sorgen Sie dafur, dass Sie sicher stehen und
sich niemand unterhalb des Geréates aufhalt.

Vorsicht beim Umgang mit Verpack-

ungsmaterialien. Geltende Sicherheits-
und Unfallverhltungsvorschriften einhalten.
Verpackungsmaterial auer Reichweite von
Kindern aufbewahren (Erstickungsgefahr).

5. Technische Daten

verzinktes Stahlblech
Gewicht je nach Type 2,2 - 3,6 kg

Material

Abmessungen: Angaben in [mm]

lo

ZVR 50 578 510
ZVR 56 684 568
ZVR 60 684 610

NNNO

6.1 ZVR-Montage mit Verschlussklappe
AS 50 und AS 60

1 Verbindungsrahmen

Winkel

Schraube M4x25
Sechskantmutter M4

Schraube M4x8, gewindeformend

abwWN

—_

. Montageort vorbereiten. Fir eine ebene
Montageflache sorgen.

2. Die 8 Winkel [2] mit den Schrauben [5] auf
den Verbindungsrahmen [1] schrauben.

3. Verbindungsrahmen auf den Ventilator-
Ausblasstutzen setzen und ausrichten.
Markierung "Oben" beachten.

4. Loécher am Ausblasstutzen markieren und
bohren (@ 3,5 mm).

5. Ventilator montieren.

6. Verbindungsrahmen auf den Ausblas-
stutzen setzen (Markierung "Oben"
beachten) und mit Schrauben [5] von
innen am Ausblasstutzen festschrauben.

7. Schutzgitter auf die Riickseite der Ver-

schlussklappe auflegen und diese mit den

Schrauben [3] und Muttern [4] auf dem

Verbindungsrahmen ( 1) befestigen.

6.2 ZVR-Montage mit Verschlussklappe
RS 50 und RS 60

1 Verbindungsrahmen
Winkel
Schraube M4 x 25
Sechskantmutter M4
Schraube M4 x 8, gewindeformend
Winkel fur Zugkordel (fir manuellen
Schalter oder Stellmotor)
Umlenkduse (2 Stiick, Zubehér Stellmotor)
Flhrungsblech
9 Fuhrungsrohr fiir Zugkordel:
RS 50 mit ZVR 50: 123 mm lang
RS 60 mit ZVR 56: 108 mm lang
RS 60 mit ZVR 60: 127 mm lang

OOk~ WN

© N




DE | Montageanleitung | UK | Mounting instructions

1. Einbau wie Kap. 6.1, Pos. 1 bis 5.

2. Umlenkdise [7] mit Schrauben [5] an
Fihrungsblech [8] schrauben.

3. Fuhrungsblech mit Schrauben [5] an Ver-
bindungsrahmen [1] schrauben.

4. Verbindungsrahmen an der Wand posi-
tionieren, Bohrung (& 18 mm) fiir
Flhrungsrohr markieren und bohren.

5. Die 2. Umlenkdise an der Innenwand
befestigen.

6. Flhrungsrohr [9] auf Lange schneiden und
von auflen bis zur Umlenkduse in die
Bohrung stecken.

7. Den Winkel [6] mit Schrauben [5] auf das
Fihrungsblech [8] schrauben.

8. Zugkordel durch das Fiihrungsrohr [9]
fuhren und mit manuellen Schalter oder
Stellmotor verbinden.

Bei Montage des Maico Stellmotors
MS 2 die Lange der Zugkordel so
gering wie maéglich halten, um eine
Langenanderung durch Dehnung zu
vermeiden.

ZVR 50, ZVR 56, ZVR 60
é Please read these instructions
carefully before mounting. For safety

regulations that must be observed
@ and further information, see the

shutter’'s mounting and operating

instructions. Follow the instructions.

1. Scope of delivery

Connection frame, 8 brackets, 4 M4x25
screws and nuts, 16 M4x8 screws (thread-
cutting), and these mounting and operating
instructions.

Additional scope of supply in combination
with RS 50/RS 60: seven M4x8 screws
(thread-cutting), 1 bracket, 1 guide plate

and 1 guide tube.

7. Umweltgerechte Entsorgung

Verpackungsmaterial und Altkomponente
gemal den ortlichen Bestimmungen
entsorgen.

Impressum: © Maico Elektroapparate-Fabrik GmbH.
Deutsche Originalanleitung. Druckfehler, Irrtimer
und technische Anderungen vorbehalten.

2. Specialist installer qualification

Mounting is only permitted when carried out
by trained specialists.

Only a trained electrician is permitted to
work on the electrics. You are deemed a
trained electrician if you are familiar with the
relevant standards and guidelines, can
competently and safely connect units to an
electrical power supply in line with the
attached wiring diagram and are able to
recognise and avoid risks and dangers
associated with electricity on the basis of
your technical training and experience.

3. Intended use

Recommended accessories for mounting the
shutters AS 50, AS 60, RS 50 and RS 60.
Connection frames for mounting the
shutters to the fan rather than to the wall.
For installation in thin exterior walls. For fans
of the model series EZQ, EZS, DZQ and DZS
with a nominal size that fits the internal
diameter. RS 60 can be fitted with ZVR 56

or ZVR 60.




Mounting instructions | UK

Operation is only permitted with:

o fixed installation on fans.

e installation in exterior walls with sufficient
load-bearing capacity.

e mounting with supplied fixing materials.
e suitable installation position - marking
OBEN is facing upwards.

6. Mounting

4. Safety instructions and
warnings

Risk of injury in entrance areas (if
ice forms) due to falling icicles.
Never install connection frame/shutter above

entrance areas that are not covered.

Danger of injury when working at

heights. Use appropriate climbing aids

(ladders). Stability should be ensured,
if necessary have the ladders steadied by a
2nd person. Ensure that you are standing
securely and cannot lose your balance and
that there is no one under the unit.

Exercise caution when handling

packaging materials. Observe
applicable safety and accident prevention
requirements. Store packaging material out
of the reach of children (risk of suffocation).

5. Technical data

Material galvanised sheet steel
Weight dependingon 2.2 -3.6 kg
type

Dimensions: details in [mm]

lo

ZVR50 578 510
ZVR56 684 568
ZVR60 684 610

NN O

6.1 ZVR mounting with shutter
AS 50 and AS 60

1 Connection frame

Bracket

M4x25 screw

M4 hexagon nut

M4x8 screw, thread-cutting

abrwWN

—_

. Prepare installation location. Make sure

there is a level mounting surface.

2. Screw the 8 brackets [2] with the screws
[5] to the connection frame [1].

3. Place and align the connection frame on
the fan exhaust socket. Ensure that the
marking OBEN is facing upwards.

4. Mark and drill the holes on the exhaust
socket (J 3.5 mm).

5. Mount the fan.

6. Place the connection frame on the fan
exhaust socket (ensure that the marking
OBEN is facing upwards) and, using the
screws [5], tightly screw from the inside
onto the exhaust socket.

7. Place the protective grille on the rear side

of the shutter and attach it to the

connection frame [1] with the screws [3]

and nuts [4].

6.2 ZVR mounting with shutter
RS 50 and RS 60

1 Connection frame

Bracket

M4x25 screws

M4 hexagon nut

M4x8 screws, thread-cutting

Bracket for pull cord (for manual

switch or servomotor)

7 Deflection nozzle (2 nozzles, servomotor
accessories)

8 Guide plate

9 Guide pipe for pull cord:
RS 50 with ZVR 50: 123 mm long
RS 60 with ZVR 56: 108 mm long
RS 60 with ZVR 60: 127 mm long

OO~ WOWN




UK | Mounting instructions | FR | Instructions de montage

1. Installation as in Chap. 6.1, pos. 1 to 5.

2. Screw the deflection nozzle [7] to the
guide plate [8] with the screws [5].

3. Screw the guide plate to the connection
frame [1] with the screws [5].

4. Position the connection frame on the wall,
mark and drill the hole (& 18 mm) for the
guide pipe.

5. Attach the 2nd deflection nozzle on the
internal wall.

6. Cut the guide pipe [9] to length and insert
it from the outside into the hole up to the
deflection nozzle.

7. Screw the bracket [6] to the guide plate [8]
with the screws [5].

8. Pass the pull cord through the guide pipe
[9] and connect it with the manual switch
or servomotor.

When mounting the Maico servo-
motor MS 2, keep the length of the
pull cord as short as possible to
avoid a change in length due to
stretching.

ZVR 50, ZVR 56, ZVR 60
Veulillez lire attentivement ces in-

A structions avant le montage. Les
consignes de sécurité a respecter et

G autres informations complémentaires
font I'objet des instructions de mon-
tage et du mode d'emploi des volets
de fermeture. Suivez les instructions.

1. Volume de fourniture

Cadre de raccordement, 8 équerres, 4 vis
M4x25 et écrous, 16 vis M4x8 (autotarau-
deuses), les présentes instructions de
montage et le mode d'emploi.

Volume de fourniture supplémentaire en
combinaison avec RS 50/RS 60 : 7 vis
M4x8 (autotaraudeuses), 1 équerre, 1 tole
de guidage et 1 tube de guidage.

7. Environmentally responsible
disposal

Dispose of packaging and used components
according to local regulations.

Acknowledgements: © Maico Elektroapparate-Fabrik
GmbH. Translation of the original German instructions.
Misprints, errors and technical changes are reserved.

2. Qualification de l'installateur
spécialisé

Le montage est exclusivement réservé a des
professionnels. Les travaux sur le systéme
électrique ne doivent étre exécutés que par
des électriciens qualifiés. On entend par
électricien qualifié une personne qui, par son
apprentissage, sa formation et son
expérience connait les normes et directives
en vigueur, est capable d'exécuter les
branchements électriques selon le schéma
de cablage dans les régles d'art et en toute
sécurité, connait les risques et dangers de
I'électricité et sait les éviter.

3. Utilisation conforme

Accessoires recommandés pour le montage
des volets de fermeture AS 50, AS 60, RS 50
et RS 60. Cadre de raccordement pour la
fixation du volet de fermeture sur le
ventilateur et non sur le mur. Pour montage
dans des murs extérieurs de faible épaisseur.
Convient aux ventilateurs des séries EZQ,
EZS, DZQ et DZS avec largeur nominale
adaptée au diamétre intérieur. Montage
possible du RS 60 avec ZVR 56 ou ZVR 60.




Instructions de montage | FR

L'utilisation est uniquement autorisée
dans les cas suivants :

e Installation fixe sur ventilateur

e Dans des murs extérieurs présentant une
force portante suffisante

e Montage avec matériel de fixation fourni

e Position d'installation adaptée - marquage
« Oben » vers le haut.

A B
ZVR50 578 510
ZVR56 684 568
ZVR60 684 610

NN O

6. Montage

4. Consignes de sécurité et
avertissements

Risque de blessure dans les zones
d'entrée en cas de formation de glace
suite a la chute de glagons. Ne jamais
installer le cadre de raccordement / volet
de fermeture au-dessus de zones d'entrée
découvertes.

Risque de blessure lors des travaux

en hauteur. Utiliser des auxiliaires

d'acces vertical (échelles) appropriés.
Assurer la stabilité. Le cas échéant, faire
appel a une 2nde personne pour maintenir
I'échelle. Veiller a avoir une position stable et
a ce que personne ne séjourne sous
I'appareil.

Manipuler les matériaux d'emballage

avec prudence. Respecter les
consignes de sécurité et de prévention des
accidents en vigueur. Conserver le matériel
d'emballage hors de portée des enfants
(risque d'étouffement).

5. Caractéristiques techniques

Matériau Téle d'acier galvanisé

Poids selon type 2,2-3,6kg

Dimensions : indications en [mm]

)

6.1 Montage ZVR avec volet de
fermeture AS 50 ou AS 60

Cadre de raccordement
Equerre

Vis M4x25

Ecrou six pans M4

Vis M4x8, autotaraudeuse

AR ON -

1. Préparer le lieu d'installation. Veiller a ce
que la surface de montage soit plane.

2. Visser les 8 équerres [2] avec les vis [5]
sur le cadre de raccordement [1].

3. Poser et positionner le cadre de
raccordement sur le raccord de soufflage
du ventilateur. Tenir compte du m
marquage « Oben » vers le haut.

4. Marquer et percer les trous (& 3,5 mm)
sur le raccord de soufflage.

5. Monter le ventilateur.

6. Poser le cadre de raccordement sur le
raccord de soufflage (tenir compte du
marquage « Oben » vers le haut) et visser
de l'intérieur sur le raccord de soufflage
avec les vis [5].

7. Poser la grille de protection au dos du
volet de fermeture et fixer ce dernier avec
les vis [3] et les écrous [4] sur le cadre de
raccordement (1).




FR | Instructions de montage

6.2 Montage ZVR avec volet de 7. Elimination respectueuse de
fermeture RS 50 ou RS 60 I'environnement

07.17_Es

1~ Cadre de raccordement Eliminer le matériel d'emballage et les

2 Equerre composants usagés conformément aux

3 Vis M4x25 directives locales.

4 Ecrou six pans M4

5 Vis M4x8, autotaraudeuse Mentions légales : © Maico Elektroapparate-Fabrik
6 Equerre pour tirette (avec interrupteur GmbH. Traduction de la notice allemande d'origine.

manuel ou servomoteur) Sous réserve de fautes d'impression,

7 Buse de déviation (2 unités, accessoires
servomoteur)

8 Tole de guidage

9 Tube de guidage pour tirette :
RS 50 avec ZVR 50 : 123 mm de long
RS 60 avec ZVR 56 : 108 mm de long
RS 60 avec ZVR 60 : 127 mm de long

1. Montage comme décrit au Chap. 6.1,
pos. 1ab5.

2. Visser la buse de déviation [7] avec les
vis [5] a la tole de guidage [8].

3. Visser la téle de guidage avec les vis [5]
au cadre de raccordement [1].

4. Positionner le cadre de raccordement sur
le mur, marquer et percer un trou
(9 18 mm) pour le tube de guidage.

5. Fixer la 2nde buse de déviation au mur
intérieur.

6. Couper le tube de guidage [9] a la
longueur requise et I'enfoncer de
I'extérieur dans le trou jusqu'a la buse
de déviation.

7. Visser I'équerre [6] avec les vis [5] sur
la téle de guidage [8].

8. Introduire la tirette a travers le tube de
guidage [9] et la relier a l'interrupteur
manuel ou au servomoteur.

Lors du montage du servomoteur
MS 2 de Maico, veiller a ce que la
tirette soit aussi courte que possible
pour éviter une modification de la
longueur par étirement.

0185.0200.0003_RLF.7_07.17_DSW

MAICO Elektroapparate-Fabrik GmbH ¢ Steinbeisstr. 20 « 78056 Villingen-Schwenningen ¢
Germany « Service +49 7720 6940 - technik@maico.de



	1. Lieferumfang
	2. Qualifikation Fachinstallateur
	3. Bestimmungsgemäße Verwendung
	4. Sicherheitshinweise und            Warnungen
	5. Technische Daten
	6. Montage
	6.1 ZVR-Montage mit Verschlussklappe  AS 50 und AS 60
	6.2 ZVR-Montage mit Verschlussklappe  RS 50 und RS 60

	7. Umweltgerechte Entsorgung
	1. Scope of delivery
	2. Specialist installer qualification
	3. Intended use
	4. Safety instructions and            warnings
	5. Technical data
	6. Mounting
	6.1 ZVR mounting with shutter  AS 50 and AS 60
	6.2 ZVR mounting with shutter RS 50 and RS 60

	7. Environmentally responsible disposal
	1. Volume de fourniture
	2. Qualification de l'installateur spécialisé
	3. Utilisation conforme
	4. Consignes de sécurité et           avertissements
	5. Caractéristiques techniques
	6. Montage
	6.1 Montage ZVR avec volet de fermeture AS 50 ou AS 60
	6.2 Montage ZVR avec volet de fermeture RS 50 ou RS 60

	7. Élimination respectueuse de l'environnement


<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (None)

  /CalRGBProfile (None)

  /CalCMYKProfile (Euroscale Uncoated v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Warning

  /CompatibilityLevel 1.3

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.1000

  /ColorConversionStrategy /LeaveColorUnchanged

  /DoThumbnails true

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams true

  /MaxSubsetPct 100

  /Optimize false

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments false

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts false

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile (None)

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 150

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages false

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 150

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages false

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile (None)

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName (http://www.color.org)

  /PDFXTrapped /Unknown



  /CreateJDFFile false

  /SyntheticBoldness 1.000000

  /Description <<

    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)

    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /FRA <>

    /PTB <>

    /DAN <>

    /NLD <>

    /ESP <>

    /SUO <>

    /ITA <>

    /NOR <>

    /SVE <>

    /DEU <>

  >>

>> setdistillerparams

<<

  /HWResolution [2540 2540]

  /PageSize [566.000 822.000]

>> setpagedevice



